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. Page 4.16, Problem 1(a):

The correct analytic solution is & (t) = (2 — 3t2) e /2.

. Page 5.7: The correct equation (5.17) is as follows.
ft,x) = fltn2a) + feltn, 2a)(t — o) + fo(tn, 2a)(x — z0)

+ 21, [foe(tn, ) (t — 1) + 2 fro(tn, 20) (t — to) (2 — )+
f:m(tn, xn)(:c — ]}n)z]

+ Higher-order terms.

. Page 5.14: The correct system of equations is
T, = 1119 — @,
xh = 1z —bt,

. Page 5.18: The actual error at t=0.18 - - -
should be replaced with
The actual error at t=0.14 - - -

. Page 5.20: Eq. 5.53 should read

Tpt1 = T + h§ Bi fr—i -

. Page 5.22: Eq. 5.56 should read

#tnss) = 2{ta) + 1 [ fos + 15 Jo = 35 faa|

. Page 5.24: Eq. 5.65 should read

@()7i 2ut+h 9 + 2u—h
du u) = 2 Tn+1 9 Ty 2U Tn—1 9
o 50O = ) - w) - )|

. Page 5.34, Section 5.3, second paragraph, first line:
Eq. 5.8 — Eq. 5.6

. Page 5.41, caption for Fig. 5.10:
t=a%—622+52+8

should be replaced with

=t —6t*+5t+8
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Page 5.45: Note that the signs of ag and aq in Eq. 5.115 are not consistent with Eq.
5.114. ay and aq in Eq. 5.115 should be replaced with —ag and —ay, respectively. The
exactness constraints also change, but the final formula does not get affected.

Page 5.48: Eq. 5.125 should read

z; = (c1 +coi) 2t

Page 5.48: Eq. 5.126 should read

k
N o 27 =0

i=—1

Page 5.50: Eq. 5.133 should read

Page 5.61:

hA hA
22—<1+3>Z+2:0

-+« h is required to be smaller than 2/|A;| or 0.091 s.
should be replaced with
-+« h is required to be smaller than 2/|Az| or 0.0091 s.

Page 5.68: The correct RKF-4/5 Butcher arrays are given by
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4" _order array
Page 5.82:

- if Vo >0V, Rp = Rop - -+
should be replaced with
it Vo <0V, Rp = Roy -+ -

5%_order array
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Page 5.85, Fig. 5.44: The correct figure is given below. (The x-axis label was not displayed
correctly in the original figure.)
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A y (a.u.) y (a.u.)

x=(a.u.) X (a.u.)

(a) RKF-4/5 (b) BE

Page 5.90:

- since the RC time constant is small (approximately R;C, Ry being the resistance
presented by the closed switch).
should be replaced with

- since the RC' time constant is small (R;C, R, being the resistance presented by the
closed switch).

Page 5.92:

Up to a certain value (about 107°%), - -
should be replaced with

Up to a certain value of € (about 1079), - -



